
https://www.leads4pass.com/ns0-504.html
2024 Latest leads4pass NS0-504 PDF and VCE dumps Download

 

 

 

NS0-504Q&As

NetApp Certified Implementation Engineer - SAN, Cluster-Mode

Pass Network Appliance NS0-504 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/ns0-504.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Network
Appliance Official Exam Center

 

 

NS0-504 PDF Dumps | NS0-504 Practice Test | NS0-504 Braindumps                                1 / 6

https://www.leads4pass.com/ns0-504.html
https://www.leads4pass.com/ns0-504.html
https://www.leads4pass.com/ns0-504.html


https://www.leads4pass.com/ns0-504.html
2024 Latest leads4pass NS0-504 PDF and VCE dumps Download

QUESTION 1

Which objects can be restored by a single SnapRestore command? (Choose three) 

A. file 

B. LUN 

C. qtree 

D. volume 

E. directory 

Correct Answer: ABD 

 

QUESTION 2

What communication link is necessary in order to establish cluster peer relations between two clusters? 

A. The cluster interface on each node must be able to communicate with the intracluster interface on each node in the
peer cluster. 

B. The cluster interface on each node must be able to communicate with the node-mgmt interface on each node in the
peer cluster. 

C. The intracluster interface on each node must be able to communicate with the intracluster interface on each node in
the peer cluster. 

D. The intercluster interface on each node must be able to communicate with the intercluster interface on each node in
the peer cluster. 

Correct Answer: D 

 

QUESTION 3

Which four FC fabric topologies does NetApp support? (Choose four.) 

A. four FC switches with multiple Inter-Switch Links (ISLs) between each pair of switches 

B. ten FC switches per fabric, daisy chained with a single ISL between switches 

C. four FC switches with multiple ISLs between ALL switches 

D. eight FC switches with no more than a single ISL between switches in a cascade topology 

E. dual FC switches with no ISLs 

F. a single FC switch 

G. a switched fabric that has 65537 ports 
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Correct Answer: ACEF 

 

QUESTION 4

What are the steps required to set the Domain ID on a Brocade switch? Choose one: A. cfgswitch : switchenable 

B. switchshow : cfgshow : switchenable 

C. configure : reboot 

D. switchdisable : configure : switchenable 

E. configure : switchshow : reboot 

F. switchdisable : configure : reset 

Correct Answer: D 

 

QUESTION 5

Which command will show the FCP target(s) on a storage system? 

A. fcp show adapter 

B. fcp show all 

C. fcp show -t 

D. fcp status 

Correct Answer: A 

 

QUESTION 6

UNIX allows file access based on___________. 

A. NT ACLs and UNIX permissions. 

B. NT ACLs and SID. 

C. GID or UID and UNIX permissions. 

D. GID or UID and ACLs. 

Correct Answer: C 

 

QUESTION 7

When you create a LIF you associate it with which two components? (Choose two.) 

NS0-504 PDF Dumps | NS0-504 Practice Test | NS0-504 Braindumps                                3 / 6

https://www.leads4pass.com/ns0-504.html
https://www.leads4pass.com/ns0-504.html
https://www.leads4pass.com/ns0-504.html


https://www.leads4pass.com/ns0-504.html
2024 Latest leads4pass NS0-504 PDF and VCE dumps Download

A. a vserver 

B. an aggregate 

C. a LUN 

D. a volume 

E. a controller\\'s Ethernet or FC port 

Correct Answer: AE 

 

QUESTION 8

A company wants to use jumbo frames to improve performance with their iSCSI network. When setting up the Ethernet
switches for jumbo frames, which three components need to be configured? (Choose three.) 

A. Ethernet port on Management Console 

B. Ethernet port on RLM 

C. Ethernet port on host system 

D. Ethernet port on storage device 

E. Ethernet port on FC switch 

F. Ethernet switch ports being used 

Correct Answer: CDF 

 

QUESTION 9

In a 2-node cluster with cluster HA enabled, which node has Epsilon by default? 

A. the first node to join the cluster 

B. the node that\\'s been running for the longest amount of time 

C. the node serving as mgwd ring master 

D. the node with the lower system ID 

E. neither node 

Correct Answer: E 

 

QUESTION 10

Which option of the snap restore command allows you to specify a different directory, as long as the directory already
exists? 
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A. snap restore -c 

B. snap restore -d 

C. snap restore -r 

D. snap restore s 

Correct Answer: C 

 

QUESTION 11

With 64-bit aggregates, the number of FlexVols that can be created on a storage controller is ____. 

A. 500 

B. 1000 

C. 6400 

D. 64000 

Correct Answer: A 

 

QUESTION 12

Which option needs to be set on a LUN to guarantee that it cannot be affected by other LUNs in the volume? 

A. Volume Guarantee 

B. Volume Space Reserved 

C. LUN Reservation Disabled 

D. LUN Reservation Enabled 

Correct Answer: D 

 

QUESTION 13

When Data ONTAP creates a weekly, nightly, or hourly snapshot, the value of n (as shown by the snap list command) is
adjusted for all the weekly.n, nightly.n, or hourly.n Snapshot copies. The higher the value of n, the _________ the
snapshot. 

A. older 

B. newer 

C. more important 

D. least important 
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Correct Answer: A 

 

QUESTION 14

Which two modes support using SnapMirror over multiple paths? 

A. Standalone 

B. Partner 

C. Multi 

D. Failover 

E. Give back 

Correct Answer: CD 

 

QUESTION 15

Which three licenses are required for fabric-attached MetroCluster? (Choose three.) 

A. Cluster 

B. Cluster_remote 

C. Syncmirror_local 

D. Syncmirror_fabric 

E. Syncmirror_remote 

Correct Answer: ABC 
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